(> S1 := [x"2+y"r2=1,x+y=0];

i SI:=[X+y =1,x+y=0]

| > with(plots):

> implicitplot( S1, x=-2..2, y=-2..2, grid=[100,100] );
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B solve( S1, {x,y} );
i {x=-RootOf(2 _Z*—1), y=RootOf (2 _ 7 —1)}
> EnvExplicit := true;
solve( S1, {x,y});
_EnvExplicit:= true
x=-IVZy= 22| [x= 3Ty 2T
2 2 2 2
> S2 := [x+y-z=0, x+z=1];
S2:=[x+y—z=0,x+z=1]
> solve(S2,{x,y,z});
i {x=1—2z y=-1+222z=2}
[ > plots[implicitplot3d]( S2, x=-2..2, y=-2..2, z=-2..2, color=[red,
blue], style=patchnogrid );




> S3 = [z=x*Yy,y=x"2];

i S3:=[z=xy, y=X]

> P1 := implicitplot3d( S3, x=-2..2, y=-2..2, z=-2..2, color=[red,blue],
style=patchcontour );

B solve( S3, {x,y,z} );

x=x y=x z=x}

(> p2 = spacecurve( [t,t"2,t73], t=-1.5..1.5, color=green, thickness=10




> display([P1,P2]):

> S1;

(¥ +yP=1,x+y=0]

(> 53 := [xN2+yN2+2z72=4, xN2-yN2-272=0, x*y-z"2=1];
S3:= [+ Y+ =4 X -y -2 =0,xy—72=1]

[ > implicitplot3d( S3, x=-3..3, y=-3..3, z=-3..3, color=[red,green,blue],




style=patchcontour );

(> G1 := Groebner[Basis]( S1, plex(x,y) );
Error, (in Groebner:-Basis) the first argument must be a list or set of

| polynomials or a Polynomialldeal
> S1 = [x"2+y"2-1, x+y];
S1:=[X+y —1,x+Y]

> S2

[x+y-z, x+z-1];
S2:=[x+y—2z x+z—1]
> S3 = [x"N2+y"2+2z72-4, xN2-yN2-272, xX*y-z"2-1];

S3:=[X+V+2 -4, X -V -2 xy—7 —1]

> Gl := Groebner[Basis]( S1, plex(x,y) );

i Gl:=[2y/—1,x+y]

> G2 := Groebner[Basis]( S2, plex(x,y,z) );

i G2:=[1-2z+y,x+z—1]
> G3 := Groebner[Basis]( S3, plex(x,y,z) );

G3:=[A+47 -3,V +7—-2,-yZ+3x—3Y]



> factor(G3[1]);
i A+47-3
> sols := solve( G3[1] =0, z);

I sols:i=1J 2 +J7 , -1y 247, -2447 , - -2+J7
(> evalf(sols):

2.155400499 1], -2.1554004991, 0.8035865299, -0.8035865299

> G = subs(z:sqrtbz;sqru7)y G3);
I Gi=|[(-24V7) —1144V7, V447, -y(-24J7) +3x=3]
(> G := simplify(G);

G:=10,y"—4+J7, -yJ7 +3x—y]



